PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : S458-430

DESCRIPTION / DESCRIPCION : MIRROR / MIROIR / ESPEJO

Serious or fatal crushing injuries
can occur from furniture tip-over.
To help prevent tip-over:

Use of tip-over restraints may only reduce,
but not eliminate the risk of tip-over.

This is & permanent iabel. Do not remove!

P

x8 JCBC Bolt M6 x 35MM K
x8 Boulon JCBC M6 x 35MM
x8 JCBC Perno M6 x 35MM

N
o

x1 Allen Key 4 x 65MM 3k
x1 Cl¢é hexagonale 4 x 65MM
x1 Llave Allen 4 x 65MM

>

® (0

x8 Spring Washer M6 % x8 Flat Washer M6 3K
x8 Rondelle a ressort M6 x8 Rondelle Plate M6
x8 Arandela auto-bloqueante M6 x8 Arandela Plana M6

L o

®

x2 Mirror Support 3k x1 Landscape Mirror
x2 Supporte de miroir x1 Miroir Horizontal
x2 Soporte del espejo x1 Espejo Horizontal
*Replaceable Part

Page 1 of 4 / Page 1 sur 4 / Pagina 1 de 4

Made in Malaysia / Fabriqué au Malaysia / Hecho en Malaysia



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S458-430

DESCRIPTION / DESCRIPCION : MIRROR / MIROIR / ESPEJO

Serious or fatal crushing injuries
can occur from furniture tip-over.
To help prevent tip-over:

+ Never open more than ane drawer at a time

Use of tip-over restraints may only reduce,
but not eliminate the risk of tip-over.

This is & permanent [abel. Do not remove!

/

\

*Replaceable Part

Page 2 of 4 / Page 2 sur 4 / Pagina 2 de 4 Made in Malaysia / Fabriqué au Malaysia / Hecho en Malaysia



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S458-430

DESCRIPTION / DESCRIPCION : MIRROR / MIROIR / ESPEJO

Serious or fatal crushing injuries
can occur from furniture tip-over.
To help prevent tip-over:

m

/ "ON" the Led
Light

» Never ppen more than ane drawer at a time

Use of tip-over restraints may only reduce,
but not eliminate the risk of tip-over.

L This is & permaneant label. Do not re move!
ck oftbeMMO[ -
1 52 A f\
[ _—A
,/ I N //’
1 | Your touch is the switch
st Touch 1 - Night Light
pack o' Touch 2 - Energy Saver Light
Touch 3 - Bright Reading Light
Touch 4 - Off

*Replaceable Part
Page 3 of 4 / Page 3 sur 4 / Pagina 3 de 4 Made in Malaysia / Fabriqué au Malaysia / Hecho en Malaysia




REPLACEABLE PART / PARTIE REMPLAGCABLE / PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S458-430

DESCRIPTION / DESCRIPCION : MIRROR / MIROIR / ESPEJO

Serious or fatal crushing injuries

can occur from furniture tip-over.
To help prevent tip-over:
+ Install tipover restraint provide N’/w S
+ Place st drawars S
( s an tog
of t

: )
e

O, doom, o . x2 RS458-430-MISU 3k x2 RS458-430-LIGHT sk

Use of tip-over restraints may only reduce, Mirror Support . Led nght Strlps

u n?t.eli:‘.i?fif:‘e ik r;r toows. Supporte de miroir Bandes Lumineuses menées
h — Soporte del espejo Tiras de luz led

/ Wj}})})@») w

x1 RS458-430-HWKIT sk
Hardware Kit
Liste des pieces de quincaillerie
Lista del kit de materiales

*Replaceable Part
Page 4 of 4 / Page 4 sur 4 / Pagina 4 de 4 Made in Malaysia / Fabriqué au Malaysia / Hecho en Malaysia




	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


